Cost Classification, Concepts and Terminology
Homework
(Questions)
Question 1
     (a) How do cost accounting and financial accounting differ?
(3 marks)
     (a) ABC Company uses manufacturing cells to produce its products. (a cell is a manufacturing unit dedicated to the production of products). One of the manufacturing cells, Cell A, produces small motors for lawn mowers. The costs incurred for the company are as follows:
     (1) Salary of Cell A’s supervisor

     (2) Materials used to produce the small motors

     (3) Salary of the company’s receptionist

     (4) Sales commissions

     (5) Advertising expenses

     (6) Depreciation on equipment used to produce the motors
Required:
     (I) Define and identify the cost object. 
(2 marks)

     (II) Which of the above costs should be assigned to the cost object? State the number. 
 (3 marks)

(Total: 8 marks)
Level of difficulty: **
Question 2
Adam Company which is a computer manufacturer incurred the following costs last year:
$‘000
Factory rent 
360
Materials used in producing computers
550
Utilities for factory
35
Advertising 
100
Wages of workers assembling computers
450
Factory supervisors’ salaries
200
Depreciation on factory equipment
50
Sales commissions
86
Wages of receptionist for executive offices
95
Depreciation on office building
75
Other indirect labour in the factory
120
Other administrative costs
97
Oil to lubricate factory equipment
10
Required:
Classify each of the costs above using the following table format and calculate the total amount for each type of cost. 
Direct materials
Direct 
labour
Factory overheads
Selling expenses
Administrative expenses
$‘000
$‘000
$‘000
$‘000
$‘000
e.g Factory rent
360

(Total: 9 marks)
Level of difficulty: **
Question 3
ABC Company produced 5,000 wooden tables during the year. These tables were sold at $300 each. The company had 600 tables in the inventory of finished goods at the beginning of the year. At the end of the year, there were 800 tables in the inventory of finished goods. The following information is provided for the year just ended: 
$
$
Purchases of raw materials
330,000
Salary of sales supervisor
200,000
Beginning inventory of raw materials 
46,000
Sales commission
90,000
Ending inventory of raw materials
66,000
General administration cost
280,000
Direct labour
50,000
Beginning work in progress inventory
13,000
Rent of factory building
100,000
Ending work in progress inventory
15,000
Depreciation of factory equipment
80,000
Beginning inventory of finished goods 
60,000
Utilities of factory
12,000
Ending inventory of finished goods 
89,000
Required:
     (a) Prepare a statement to calculate the cost of goods manufactured.
(5 marks)

     (b) Calculate the average cost of producing one table. 
(2 marks)

     (c) Prepare an income statement for the year. 
(5 marks)


(Total: 12 marks)
Level of difficulty: **
Question 4
Chan & Lee is a local law firm located in Central. Tommy Lee, one of the firm’s owner, wants to determine the total cost per professional hour so that they can appropriately charge their clients. In April, May and June, the firm had provided 1,200 hours, 1,600 hours and 1,800 hours of professional services respectively. The cost data for these three months is as follows:
April
1,200 hours
May
1,600 hours
June
1,800 hours
     $
     $
      $
Consultancy fees of senior partners
480,000
640,000
720,000
Salaries of associate attorneys
40,000
40,000
80,000
Salaries of legal associates
30,000
30,000
30,000
Internet and software subscriptions
7,000
8,500
9,400
Depreciation of office equipment
5,000
5,000
5,000
Supplies
10,000
12,100
13,000
Administration
4,800
4,800
4,800
Office rent
94,000
94,000
94,000
Utilities
7,200
9,600
10,800
Required:
     (a) Classify each cost item above as fixed, step, mixed or variable cost, using hours of professional service as the cost driver.
(9 marks)

     (b) Using the high-low method to separate the mixed costs classified in (a) into their fixed and variable components. 
(6 marks)
(c)
Tommy estimated that the firm would operate at 1,500 hours in July, how much would the firm charge their clients per professional hour in July if the pricing policy is to mark-up at 40% of the total cost?
(5 marks)

(Total: 20 marks)
Level of difficulty: ***
Cost Classification, Concepts and Terminology
Homework
(Suggested Solutions)
Question 1
     (a) Cost accounting has a broad range of disciplines and is internally focused as well as future oriented. It does not follow mandatory rules. It keeps track of both financial and non-financial information. Financial accounting, on the other hand, provides information about the company as a whole and is externally focused. It follows externally imposed rules (such as GAAP) and has a historical orientation.
(3 marks)
(bi)
Cost object is any item for which costs are measured and assigned. The manufacturing Cell A is the cost object of ABC Company. 
(2 marks)
(bii)
(1), (2) and (6) are costs that should be assigned to the manufacturing Cell A. 
  (3 marks)


(Total: 8 marks)
Question 2
Direct materials
Direct 
labour
Factory overheads
Selling expenses
Administrative expenses
$’000
$’000
$’000
$’000
$’000
Factory rent
360
Materials used in producing computers
550
Utilities for factory
35
Advertising 
100
Wages of workers assembling computers
450
Factory supervisors’ salaries
200
Depreciation on factory equipment
50
Sales commissions
86
Wages of receptionist for executive offices
95
Depreciation on office building
75
Other indirect labour in the factory
120
Other administrative costs
97
Oil to lubricate factory equipment
10
550
450
775
186
267
(0.5 marks for each correct classification) (0.5 marks for each correct total figure) 
(Total: 9 marks)
Question 3

(a)
ABC Company
Statement of calculating the cost of goods manufactured
S’000
Cost of direct materials consumed (W1)
310
1.5
Add: Direct labour
50
0.5
Add: Production overheads (W2)
192
1.5
Total manufacturing cost for the year
552
0.5
Add: Beginning WIP inventory
13
0.5
Less: Ending WIP inventory
(15)
0.5
Cost of goods manufactured
550
(5 marks)
Workings:
(W1): Cost of direct materials consumed = $(46,000 + 330,000 – 66,000) = $310,000
(W2): Production overheads = $(100,000 + 80,000 + 12,000) = $192,000
     (b) The average cost per table = $550,000 / 5,000 = $110
(2 marks)

(c)
ABC Company
Income Statement for the year
$’000
S’000
Sales [$300 x (600 + 5,000 - 800)]
1,440
1.5
Less:
Cost of goods sold
Beginning inventory of finished goods 
60
0.5
Add: Cost of goods manufactured
550
1
610
Less: Ending inventory of finished goods 
89
521
0.5
Gross profit
919
Less:
Selling expenses ($200,000 +$90,000)
290
1
General administration cost
280
570
0.5
Net profit
349
(5 marks)

(Total: 12 marks)
Question 4

(a)
Cost Classification
Consultancy fees of senior partners
Variable cost
Salaries of associate attorneys
Step cost
Salaries of legal associates
Fixed cost
Internet and software subscriptions
Mixed cost
Depreciation of office equipment
Fixed cost
Supplies
Mixed cost
Administration
Fixed cost
Office rent
Fixed cost
Utilities
Variable cost
(1 mark for each correct classification) (9 marks)
(b)
Internet and software subscriptions

Variable cost per hour = ($9,400 – $7,000) / (1,800 – 1,200) = $4 per hour 
(2 marks)

Total fixed cost = $9,400 - $4 x 1,800 = $2,200
(1 mark)

Supplies

Variable cost per hour = ($13,000 – $10,000) / (1,800 – 1,200) = $5 per hour
(2 marks)

Total fixed cost = $13,000 - $5 x 1,800 = $4,000
(1 mark)
(c)
For 1,500 hours

Total fixed costs = $(40,000 + 30,000 + 2,200 + 5,000 + 4,000 + 4,800 + 94,000) 

                            = $180,000
(2 marks)

Total variable costs per hour = $(400* + 4 + 5 + 6**) = $415

Therefore, the total costs per hour = ($180,000 + $415 x 1,500) / 1,500 = $535
(2 marks)

The firm should charge: $535 x 1.4 = $749 per hour
(1 mark)
*    $480,000 ÷ 1,200 = $400
** $7,200 ÷ 1,200 = $6
